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GPT(Generative Pretrained Transformer)
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Pretrained Transformer
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- EleutherAl Polyglot
(1.3B, 3.4B, 5.8B, 12.8B)

- Kakao KoGPT (6B)
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- OpenAl GPT-3 (175B)
- Meta OPT (1/5B)

- Google PaLM (5408B)
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train/loss

= gpt-j-350m-v1-1r3e-4-batch512-bf16-rev4d = ajoublue-gpt2-medium-v1-1r3e-4-batch512-bf16-r

ajoublue-gpt2-base-v1-24L-1r5e-4-batch512-rev3

M 2M 3M

= gpt-j-base-v1-24L-1r5e-4-batch512-rev.

4M 5M



Timeline

7|7t

—

2022/12

2022/1

2022/2

2022/3

2022/4

N

L

0t

GPT-NeoX 13M, 52M PoC (1 GPU)

GPT2, GPT-J 125M, 210M TPU at&

125M, 210M &7}
350M 22 of 5 Al

350M 2 & EIt
O|= 125M, 210M, 350M &7

775M, 1.3B &5 A&t
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NSMC

Name # params Acc

skt/kogpt2-base-v2 124M 89.1
kogpt-j-base-rev4 124M 88.88
ajoublue-gpt2-base 125M 89.69
kogpt-j-base-24L 209M 90.51
ajoublue-gpt2-base-24L 210M 90.74
kogpt-j-medium 304M 90.31
ajoublue-gpt2-medium 355M 90.34
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KLUE-YNAT
Macro F1

83.88
86.58
86.17
86.91
86.62
86.64
86.59

KLUE-STS
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N S Oy

CHEHTop-P)
PPL
83.82
81.69 37.44
80.78 41.447
81.9 35.524
85.71 36.442
83.76 34.492
81.48 34.101
= B7HSTS)
2ot 7 HHIH
N E% HQIC},

0.1648
0.2272
0.2256
0.2265
0.2262
0.2287
0.2286

L 2f(Beam)

0.41133
0.4052
0.4158
0.4232
0.4253
0.4277
0.4311
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